
𝑦 − 𝑦ଵ = 𝑚(𝑥 − 𝑥ଵ)

𝑦 − (−2) = −
1

2
⎯⎯൫𝑥 − (−1)൯

𝑦 + 2 = −
1

2
⎯⎯(𝑥 + 1)

Find Equation in Slope Intercept Form

Steps:

Find Point

Find Slope

Equation

Substitute m
                    Point

𝑦 − 𝑦ଵ = 𝑚(𝑥 − 𝑥ଵ)

𝑠𝑙𝑜𝑝𝑒 = 𝑚 =
3

1
⎯⎯

(2,1)
(𝑥ଵ, 𝑦ଵ)

𝑃𝑜𝑖𝑛𝑡

𝑦 − 𝑦ଵ = 𝑚(𝑥 − 𝑥ଵ)

  𝑦 − 1 =
3

1
⎯⎯(𝑥 − 2)

𝑆𝑙𝑜𝑝𝑒 = 
௥௜௦௘

௥௨௡
⎯⎯⎯

𝑃𝑜𝑖𝑛𝑡 (𝑥ଵ, 𝑦ଵ)

𝑠𝑙𝑜𝑝𝑒 = 𝑚 = −
1

2
⎯⎯

(−1, −2)
(𝑥ଵ, 𝑦ଵ)

𝑃𝑜𝑖𝑛𝑡

Graph Slope Intercept Form

Steps:

Find Point

Find Slope

Equation

Substitute m
                    Point

Simplify

Steps:

Equation

Write Form

Find Point
Graph Point

Find Slope
Graph Slope

(−2, −1)
(𝑥ଵ, 𝑦ଵ)

𝑃𝑜𝑖𝑛𝑡

𝑦 + 1 =
2

3
⎯⎯(𝑥 + 2)

𝑦 − 𝑦ଵ = 𝑚(𝑥 − 𝑥ଵ)

Notice it’s the 
Opposite of what's 
Inside the Brackets

Substitute with Brackets

𝑠𝑙𝑜𝑝𝑒 = 𝑚 =
2

3
⎯⎯
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